	[image: image33.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Papers 2013
Subject: Mathematics

Class  - 10

Time : 3Hours


Second Term (SA-II)

Maximum Marks : 90

GENERAL INSTRUCTIONS

(i)
All questions are compulsory.

(ii)
The question paper consists of 34 questions divided into four sections A, B, C and D. Section A comprises of 8 questions of 1 mark each, Section B Comprises of 6 questions of 2 marks each, Section C comprises of 10 questions of 3 marks each and Section D comprises of 10 questions of 4 marks each.

(iii) 
Questions numbers 1 to 8 in Section A are multiple choice questions where you are to select one correct option out of the given four.

(iv) 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of four marks each. You have to attempt only one of the alternatives in all such questions.

(v) 
Use of calculators is not permitted.

                                                          SECTION – A


Question number 1 to 8 carry 1 mark each. For each of the questions 1 – 8, four alternative choices have been provided of which only one is correct. You have to select the correct choice.

1. If the common difference of an A.P. is 3, then a20 – a15 is :


(A) 5


(B) 3



(C) 15



(D) 20

2. In figure, AB and AC are tangents to the circle with centre O such that [image: image2.png]


BAC = 40o. Then [image: image4.png]


BOC is equal to :

[image: image1.png]



(A) 40°



(B) 50°





[image: image33.png]



(C) 140°



(D) 150°

 3.  The common point of the tangent and the circle is called

(A)Golden point

(B) point of contact
(C) point of intersection
 (D) degenerate point

 4. Number of tangents that can be drawn through a point which is inside the circle is 
      A) 3                                           B) 2                                        C)1                                      D)0

5. A tower stands vertically on the ground. From a point on the ground which is 25 m away from the foot of the tower, the angle of elevation of the top of the lower is found to be 45o.. Then the height (in metres) of the tower is :


(A) 25 [image: image6.png]





(B) 25 [image: image8.png]





(C) 25



(D) 12.5

6. A card is drawn from a well shuffled deck of 52 playing cards. The probability that the card will not be an ace is :


(A) [image: image10.png]e






(B) [image: image12.png]






(C) [image: image14.png]






(D) [image: image16.png]



7. If P [image: image18.png]


 is the mid-point of the line segment joining the points A (– 6, 5) and B (– 2, 3), then the value of a is :


(A) – 8


(B) 3



(C) – 4



(D) 4

8. The perimeter (in cm) of a square circumscribing a circle of radius a cm, is :


(A) 8a

(B) 4a



(C) 2a



(D) 16a

                                               SECTION – B

Questions numbers 9 to 14 carry 2 marks each.

9.
In the given fig., AB is a diameter of the circle, AC = 6 cm and BC = 8 cm. Find the area of the shaded region. [Use [image: image20.png]


 = 3.14]

10. Write first four terms of the A.P. whose first term is – 1 and common difference is [image: image22.png]


.

11. Find the roots of the quadratic equation [image: image24.png]V2x? +7x+5V2=0



 by factorization.

Or


Is it possible to design a rectangular mango grove whose length is twice its breadth and area is 800 m2. If so find its length and breadth.
12. The length of a tangent from a point a at distance 5 cm from the centre of the circle is 4 cm. Find the radius of the circle.

13. If tangents PA and PB from a point P to a circle with centre O are inclined to each other at angle of 

         60°, find the measure of angle POA.                                    

14. Calculate the area of shaded portion. 

The quadrant shown in this figure are each of radius 7 cm.

SECTION – C

Question numbers 15 to 24 carry 3 marks each.

15.
The sum of the lives of the two electric lamps one C.F.L. and other ordinary lamp is 9 years. The product of the lives of these two lamps is 21 years. Is this situation possible ? If so, determine their lives.


Keeping ‘save energy’ in mind which type of lamp one should prefer ?

16.
Find the sum of first n terms of an A.P. whose nth term is 5n – 1. Hence, find the sum of first 20 terms.

17.
In figure, a triangle ABC is drawn to circumscribe a circle of radius 10 cm such that the segments BP and PC into which BC is divided by the point of contact P, are of lengths 15 cm and 20 cm respectively. If the area of (ABC = 525 cm2, then find the lengths of sides AB and AC.

Or


Prove that the parallelogram circumscribing a circle is a rhombus.

18.
A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the area of the 


Corresponding minor segment and hence find the area of the major segment. 




[Use ( = 3.14]

19.
From a solid cylinder of height 14 cm and base diameter 7 cm, two equal conical holes each of radius 2.1 cm and height 4 cm are cut off. Find the volume of the remaining solid.

Or


The radii of the circular ends of a solid frustum of a cone are 18 cm and 12 cm and its height is 8 cm. Find its total surface area.









[Use ( = 3.14]

20.
A ladder of length 6 m makes an angle of 45° with the floor while leaning against one wall of a room. If the foot of the ladder is kept fixed on the floor and it is made to lean against the opposite wall of the room, it makes an angle of 60° with the floor. Find the distance between these two walls of the room.

21.
Cards marked with numbers 5, 6, 7, …., 74 are placed in a bag and mixed thoroughly. One card is drawn at random from the bag. Find the probability that the number on the card is a perfect square.

22.
Prove that the intercept of a tangent between a pair of parallel tangents to a circle subtend a right angle at the centre of the circle.

Or

Two tangents TP and TQ are drawn to a circle with centre O, from an external point T. Prove that      (PTQ = 2(OPQ.

23.The line joining the points (2, 1) and (5,-8) is trisected at the points P and Q. If point P lies on the line
       2x - y + k = 0, find the value of k.

24. Determine the ratio in which the point (-6, a) divides the join of A (-3,-1) and B (-8, 9). Also find the value of a.

SECTION – D

Questions numbers 25 to 34 carry 4 marks each.

25.
An aeroplane flying horizontally 1 km above the ground is observed at an elevation of 60°. After 10 seconds, its elevation is observed to be 30°. Find the speed of the aeroplane in km/h. 

26.
Show that the points A (1, 0), B (5, 3), C (2, 7) and D (-2, 4) are the vertices of parallelogram.
27.
A school decided to award cash prizes to its players for the five values Sportsman spirit,  
       Tolerance, Cooperation, Leadership, Discipline. If all five prizes together amount to be ` 

        975 and each prize is ` 15 less than its preceeding prize, find the value of each of the prizes.

        Which value you prefer to be awarded the most ?

28.
If the sum of m terms of an A.P. is n and the sum of first n terms is m, then show that the  
        sum of its first   (m + n) terms is – (m + n).

29.
The speed of a boat in still water is 11 km/h. It can go 12 km upstream and return 

        downstream to the original point in 2 hours and 45 minutes. Find the speed of the stream.

Or


Two pipes running together can fill a tank in 11[image: image26.png]


 minutes. If one pipe take 5 minutes more than the other to fill the tank, find the time in which each pipe would fill the tank.

30.
A spherical copper shell of external diameter 18 cm is melted and recast into a solid cone of base radius 14 cm and height 4[image: image28.png]


 cm. Find the inner diameter of the shell.

31.A bucket made up of a metal sheet is in the form of a frustum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20 cm respectively. Find the cost of the bucket if the cost of metal sheet used is ` 15 per 100 cm2. 








[Use ( = 3.14]

Or


The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the base. If its volume be [image: image30.png]


th of the volume of the given cone, at what height above the base is section made ?

32.
The long and the short hands of a clock are 6 cm and 4 cm long respectively. Find the sum of distances travelled by their tips in a day.

33.
Construct an isosceles triangle ABC with base BC = 6 cm, AB = AC and (A = 90°. Draw another similar triangle whose sides are [image: image32.png]


 th of the sides of (ABC.

34.
All kings, jacks and aces are removed from a pack of 52 cards. The remaining cards are well shuffled and then a card is drawn from it. Find the probability that the drawn card is :


(i) a black and



(ii) a red card. 
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